- Thank you for choosing Food Feeder!

If you need help, please email: GuineaLoft@gmail.com.

GuineaLoft"" Scan QR code to find How To Install video:

s REMEMBER TO PEEL

Scratch on the protection film. Lift up an edge. Peel off the unclear protection film.
PACKING LIST

- T PACKING LiST \

|u o o n| Face Panels x 2

: -— : Bottom Panel x 1 @ ﬂ
M5 6mm M5 12mm Gaskets L2 Brackets
[::‘,] Side Panels x 2 Screws x 6 Screws x 2 x2 x4

- J
e HOW TO INSTALL ~N

o Bottom

¢ Install L2 brackets
onto bottom panel.

@ wall-Mount

e Assemble a face panel
onto cage wall.

® Screw outside-in with M5
12mm screws & gaskets.

B

e Screw outside-in with
M5 6mm screws.

M5 12mm Screws
& Gaskets

8%

0 Final Assembly

¢ Assemble a face panel onto L2
bracket with M5 6mm screws.

¢ Insert side panels into face
panels.



https://manuals.plus/m/e852b41c3ca3f2fd6f82de5faa24f8dcd7876f50ae88cb19dfefd2c50d6a17eb

